DIN #rfEfEsL
— ' N
LE-M(KEG) =ji@#Ek — AHlHIEL
L1 .
0 KRB (S3) L5
—-— % LL 4-8 mmD1 @ D1 'J:——
E3] L 6+8 mm D1 — -
1 1 ‘ %5 S 6mmD1 a
Q
: 33 3 32
S _ =T‘
\ [ IN=) R
NSt
3 B
3 L1
L2 L5
24 g1 _ [T
T 1 4 1)
- s1 Q
_Iﬂ — L_k-{T ﬂl ‘ L32
N AR 1| Y
i N A
o LL =]
vt
-
@ D4
T
D1 T1EE S (bar)
=
#5l @ T D3 | D4 | L1 L2 L3 L4 L5 | $1 S2 | S3 e/ iTiRS* CF 71
LL 04 | M8x1tap. 30| 35| 15 |11.0| 17 8 21 9 10 9 17 LEO4LLM 100 100
06 | M10x1tap. 45| 45| 15 95| 17 8 21 9 12 11 21 LEO6LLM 100 100
08 | M10x1tap. 60| 60| 17 [11.5| 20 8 23 12 14 12 29 LEOSLLM 100 100
L 06 | M10x1tap. 40| 40| 19 (120 20 8 27 12 14 12 38 LEO6LM 315 315
08 | M12x1.5tap. 60| 60| 21 [14.0| 26 12 29 12 17 14 56 LEOSLM 315 315
10 | M14x1.5tap. 80| 70| 22 [15.0 | 27 12 30 14 19 47 LE10LM 315 315
12 | M16x1.5tap. [10.0 | 9.0 | 24 |17.0 | 28 12 32 17 22 58 LE12LM 315 315
15 | M18x1.5tap. [12.0 [11.0 | 28 |21.0 | 32 12 36 19 27 98 LE15LM 315 315
18 | M22x1.5tap. |15.0 [14.0 | 31 |23.5| 36 14 40 24 32 156 LE18LM 315 315
S 06 | M12x1.5tap. 40| 40| 23 [16.0 | 26 12 31 12 17 14 70 LEO6SM 400 400
08 | M14x1.5tap. 50| 50| 24 [17.0 | 27 12 32 14 19 66 LEO8SM 400 400
10 | M16x1.5tap. 70| 70| 25 (175 | 28 12 34 17 22 123 LE10SM 400 400
12 | M18x1.5tap. 80| 80| 29 (215 28 12 38 17 24 169 LE12SM 400 400
14 | M20x1.5tap. [10.0 {10.0 | 30 |22.0 | 32 14 40 19 27 174 LE14SM 400 400
16 | M22x1.5tap. [12.0 [12.0 | 33 |245 | 32 14 43 24 30 178 LE16SM 400 400
* AEBEBRRE, BRESRAEEHMENESSED6R.
THSES
#H FmEALE w5l
AR
BRI — ~
EEAER RN, TN RiEsE CF LE16SMCFX
HEiEmES | FER 71 LE16SM71X

D103

FEmFEZA 4100/CH



